
Jacek Kredenc – szkic rozwiązania 

Wyliczamy średnie 

Dla liczb10; 20; 30; 40; 50 oblicz średnią arytmetyczną, geometryczną; harmoniczną i 

kwadratową. 

Rozwiązanie: 

Średnia arytmetyczna 

𝑆𝐴 =
10 + 20 + 30 + 40 + 50

5
= 2 + 4 + 6 + 8 + 10 = 30 

Średnia geometryczna 

𝑺𝑮 = √𝟏𝟎 ∙ 𝟐𝟎 ∙ 𝟑𝟎 ∙ 𝟒𝟎 ∙ 𝟓𝟎
𝟓

= √𝟏𝟐𝟎𝟎𝟎𝟎𝟎𝟎
𝟓

≈ 𝟐𝟔, 𝟎𝟓𝟏𝟕𝟏𝟎𝟖𝟒𝟔𝟗𝟕𝟑𝟓 

Średnia harmoniczna 
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𝟏𝟑𝟕
𝟔𝟎𝟎

=
𝟑𝟎𝟎𝟎

𝟏𝟑𝟕

≈ 𝟐𝟏, 𝟖𝟗𝟕𝟖𝟏𝟎𝟐𝟏𝟖𝟗𝟕𝟖𝟏 

Średnia kwadratowa 

𝑺𝑲 = √
𝟏𝟎𝟐 + 𝟐𝟎𝟐 + 𝟑𝟎𝟐 + 𝟒𝟎𝟐 + 𝟓𝟎𝟐

𝟓
= √

𝟏𝟎𝟎 + 𝟒𝟎𝟎 + 𝟗𝟎𝟎 + 𝟏𝟔𝟎𝟎 + 𝟐𝟓𝟎𝟎

𝟓
= 

= √𝟐𝟎 + 𝟖𝟎 + 𝟏𝟖𝟎 + 𝟑𝟐𝟎 + 𝟓𝟎𝟎 = √𝟏𝟏𝟎𝟎 ≈ 𝟑𝟑, 𝟏𝟔𝟔𝟐𝟒𝟕𝟗𝟎𝟑𝟓𝟓𝟒 

 


